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∫∫
D

2x
y2+xy3

dxdy, Ù¥D�²¡­�xy = 1, xy = 3, y2 = x,

y2 = 3x¤�¤�k.4«�.
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�¼êu = u(x, y, z)´d�§ x2

a2+u
+ y2

b2+u
+ z2

c2+u
= 1¤(½�Û¼ê,

Ù¥a, b, c ´¢~ê.y²: |grad u|2 = 2r · grad u,

Ù¥grad u = (∂u∂x ,
∂u
∂y ,

∂u
∂z ), r = (x, y, z).
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�L´å:��:,ª:�(a, b, c)(a > 0, b > 0, c > 0)�k���ã,�(a, b, c)´

ý¥¡x2 + y2

3 + z2

6 = 1þ�:, ¯a, b, c �Û��, 1�.­�È©∫
L yzdx+ zxdy + xydz����, ¿¦Ñd���.
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�:P´ý¥¡S : x2 + y2 + z2 − yz = 1þ�Ä:, S3:P?��²¡��I

²¡oxyR�, ¦:P�;,L, ¿O�­¡È©
∫∫
Σ

(x+3)
√
|y−2z|√

4+y2+z2−4yz
dσ, Ù¥Σ´

ý¥¡S u­�Lþ��Ü©.
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O�1�.­¡È©
∫∫
Σ

4xzdydz − 2yzdzdx+ (x2 − z2)dxdy, Ù¥Σ´­�

z = ey, 0 ≤ y ≤ 1, 7z¶^=)¤�^=­¡, �eý.
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O�dn��ÎNx2 + y2 ≤ a2, x2 + z2 ≤ a2Úy2 + z2 ≤ a2(a > 0)�¤�AÛ

N�NÈ.
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�3þ�²¡D = {(x, y) : y > 0}S, ¼êf(x, y)äkëY��� �ê, �

é?¿�t > 0Ñkf(tx, ty) = t−2f(x, y). y²: éDS�?¿©ã1w�

k�{ü4­�L, Ñk
∮
L yf(x, y)dx− xf(x, y)dy = 0.
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�f(x)Úg(x)3Rþ, K(x, y)3R2þÑ´ëY���¼ê, �÷v∫ 1
0 f(y)K(x, y)dy = g(x),

∫ 1
0 g(y)K(x, y)dy = f(x).

(1) y²: em = min
0≤x≤1

f(x)
g(x) , M = max

0≤x≤1

f(x)
g(x) , KmM = 1.

(2) y²: �0 ≤ x ≤ 1�, f(x) = g(x).

8


